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15. I' úIu ;%sfldaKh  
II' iumdo ;%sfldaKh  
 

16. 20m 12cm 
  

17. l%s'j' 1932 
 

18. iqÿiq rEm igyklg ,l=Kq odkak' 
 

19. w¾O Y=oaO fgi,dlrKh  
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b.  

I' ir, odrh  
 úys; p;=ri%h  
 mekai,   
II' ksjerÈ ms<s;=r i|yd ,l=Kq fokak'  
III' È. yd m<, ksjerÈj .ekSu ^,l=Kq 2&  
IV' kï lsÍu ^,l=Kq 1& 
 iudka;r mo ,sùu ^,l=Kq 2&  
 

2. I' ldàiSh ;,h we£u 
 

 

 

 

 

 

 

 

 

 

 

 
  
 
 
 
 
II' ,laIHh ,l=Kq lsÍu ^,l=Kq 4&  
 hd lsÍu ^,l=Kq 1&  
III' ;%emSishu ^,l=Kq 2&  
IV' iuñ;sl wlaI we£u ^,l=Kq 2&  
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3. I' AD f¾Ld we£u ^,l=Kq 2&  
II' jD;a;h we£u ^,l=Kq 2&  
 

 

 

 

 

 

 

 

 

 

 

 

III' ABCDEF Ivdi%h we£u ^,l=Kq 2& 
 kï lsÍu ^,l=Kq 2& 
IV' 𝐴𝐵 𝐶 = 1200 ^,l=Kq 1& 
V' 7200 ^,l=Kq 2& 
 

4. I' 2 12" 24" 18 
 2 06" 12" 09 
 2 03" 06" 09  fn§ug ,l=Kq 01 
 3 03" 03" 09 
 3 01" 01" 03 
  01" 01" 01 
  
  2 x 3 = 6  .=Ks;hg ,l=Kq 01 
     ms<s;=rg ,l=Kq 01  
  
II' 2 x 2 x 2 x 3 x 3   
 72 

  

III' 9'00 + meh 1 ñks' 12  
 fm'j' 10 ñks' 12  
 
IV' 2𝑥 + 𝑦 − 3 
 2 𝑥 7 + 5 − 3  (,l=Kq 1) 
  14 + 2   (,l=Kq 1) 
 16   (,l=Kq 1) 
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 7cm x 4cm = 28cm
2  ^,l=Kq 02& 
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 ldâ 4  ^,l=Kq 1& 
 uqo, 4 x 20 ^,l=Kq 1& 
 re' 80'00  
 

6. a. 
I' iqÿiq rEmhg  ^,l=Kq 2& 
II' iqÿiq rEmhg  ^,l=Kq 2& 
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I' ksjerÈ m;frdu we£u  ^,l=Kq 2& 
II' uqyqK;a 5 
 odr 8    ^,l=Kq 3& 
 YS¾I 5  

II' V + F = E + 2  
 5 + 5  = 8 + 2   ^,l=Kq 2& 
 10 = 10  
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         ia:ïN 4 i|yd ^,l=Kq 2& 
 

 

 

 
  
II' nodod  ^,l=Kq 2&  
III'  i÷|d  ̂,l=Kq 2& 
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